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Name: __________________________________



1
In [image: image1.png]MABC



 below, the measure of [image: image2.png]apge



, [image: image3.png]


, [image: image4.png]


, and [image: image5.png]


.

[image: image6.png]



Which ratio represents the sine of [image: image7.png]/B



?

2
The diagram below shows right triangle UPC.

[image: image8.png]



Which ratio represents the sine of [image: image9.png]LU



?

3
Which ratio represents [image: image10.png]


 in the right triangle shown below?

[image: image11.png]28

53

45





4
Which ratio represents the cosine of angle A in the right triangle below?

[image: image12.png]




5
Which ratio represents [image: image13.png]cos A



 in the accompanying diagram of [image: image14.png]MABC



?

[image: image15.png]oy





6
In right triangle [image: image16.png]ABC



 shown below, what is the value of [image: image17.png]cos A



?

[image: image18.png]16

20





7
In right triangle LMN shown below, [image: image19.png]m M = 90°



, [image: image20.png]M = 12



, and [image: image21.png]16



.

[image: image22.png]12

16




The ratio of [image: image23.png]cosiV



 is

8
In the accompanying diagram of right triangle ABC, [image: image24.png]


, [image: image25.png]


, [image: image26.png]17



, and [image: image27.png]msABC = 90



.

[image: image28.png]15




What is [image: image29.png]tan 2



?

9
The diagram below shows right triangle ABC.

[image: image30.png]12




Which ratio represents the tangent of [image: image31.png]ZABC



?

10
The diagram below shows right triangle LMP.

[image: image32.png]



Which ratio represents the tangent of [image: image33.png]ZPIM



?

11
Which equation shows a correct trigonometric ratio for angle A in the right triangle below?

[image: image34.png]i7em
gem

c 15cm




	1)
	[image: image35.png]




	2)
	[image: image36.png]tand = —





	3)
	[image: image37.png]




	4)
	[image: image38.png]






12
In the diagram below of right triangle ABC, [image: image39.png]


, and [image: image40.png]


.

[image: image41.png]17





Which equation would determine the value of angle A?

	1)
	[image: image42.png]




	2)
	[image: image43.png]




	3)
	[image: image44.png]




	4)
	[image: image45.png]






13
Right triangle ABC has legs of 8 and 15 and a hypotenuse of 17, as shown in the diagram below.

[image: image46.png]15




The value of the tangent of [image: image47.png]/B



 is

14
In triangle MCT, the measure of [image: image48.png]


, [image: image49.png]MC = 85 cm



, [image: image50.png]


, and [image: image51.png]13cm



.  Which ratio represents the sine of [image: image52.png]pao;



?

15
In [image: image53.png]MABC



, the measure of [image: image54.png]apge



, [image: image55.png]50,



 [image: image56.png]


, and [image: image57.png]


.  Which ratio represents the tangent of [image: image58.png]24



?

16
In right triangle ABC shown below, [image: image59.png]12



, [image: image60.png]


, and [image: image61.png]


.

[image: image62.png]12

20




Which equation is not correct?

	1)
	[image: image63.png]




	2)
	[image: image64.png]




	3)
	[image: image65.png]




	4)
	[image: image66.png]






17
In right triangle JKL in the diagram below, [image: image67.png]


, [image: image68.png]


, [image: image69.png]


, and [image: image70.png]apge



.

[image: image71.png]25

24




Which statement is not true?

	1)
	[image: image72.png]




	2)
	[image: image73.png]




	3)
	[image: image74.png]tang = =





	4)
	[image: image75.png]






18
In [image: image76.png]MABC



, [image: image77.png]


.  If [image: image78.png]


 and [image: image79.png]


, which statement is not true?

	1)
	[image: image80.png]cosd =





	2)
	[image: image81.png]




	3)
	[image: image82.png]inB =





	4)
	[image: image83.png]






19
In the diagram of right triangle ADE below, [image: image84.png]BC || DE



.

[image: image85.png]



Which ratio is always equivalent to the sine of [image: image86.png]24



?

	1)
	[image: image87.png]




	2)
	[image: image88.png]




	3)
	[image: image89.png]




	4)
	[image: image90.png]






20
In the diagram below, [image: image91.png]MNCDRE



 is the image of [image: image92.png]MNCAB



 after a dilation of [image: image93.png]


 centered at C.

[image: image94.png]



Which statement is always true?

	1)
	[image: image95.png]




	2)
	[image: image96.png]




	3)
	[image: image97.png]




	4)
	[image: image98.png]






21
In the diagram below, [image: image99.png]


.

[image: image100.png]



Which statement is always true?

	1)
	[image: image101.png]




	2)
	[image: image102.png]




	3)
	[image: image103.png]fils
3

tan T





	4)
	[image: image104.png]






22
In the diagram below of right triangle ABC, altitude [image: image105.png]BD



 is drawn.

[image: image106.png]



Which ratio is always equivalent to [image: image107.png]cos A



?

	1)
	[image: image108.png]




	2)
	[image: image109.png]




	3)
	[image: image110.png]




	4)
	[image: image111.png]






1
ANS:


[image: image112.png]



[image: image113.png]g opposite 8
M= fpotenuse 10




REF:
011518ia

2
ANS:


[image: image114.png]



[image: image115.png]opposite 15
Typotenuse _ 17





REF:
010919ia

3
ANS:


[image: image116.png]



[image: image117.png]opposite 38

M= fypoteruse 53




REF:
011109ia

4
ANS:


[image: image118.png]



[image: image119.png]4o Cdecent 3
2054 = Typotenuse ~ 5




REF:
081329ia

5
ANS:


[image: image120.png]



[image: image121.png]4o Cdecent 5
2054 = Typotenuse ~ 13




REF:
080414a

6
ANS:


[image: image122.png]



[image: image123.png]adjacent 16
Typotenuse . 20





REF:
011307ia

7
ANS:


[image: image124.png]



[image: image125.png]sV

opposite

Typotenuse

1
i




REF:
012307geo

8
ANS:


[image: image126.png]



[image: image127.png]oppostte
adfacent

3
5




REF:
010316a

9
ANS:


[image: image128.png]



[image: image129.png]opposite 5

anABC = e = 12





REF:
081112ia

10
ANS:


[image: image130.png]



[image: image131.png]tan PLM

oppostte 4
adjacent ~ 3




REF:
011226ia

11
ANS:
3

[image: image132.png]4o Cdacent 15
2054 = Typotenuse 17




REF:
011008ia

12
ANS:
4

[image: image133.png]opposite 15
adjacent - 8





REF:
011917geo

13
ANS:


0.5333

[image: image134.png]opposite 8

adjacent ~ 15




REF:
081026ia

14
ANS:


[image: image135.png]



[image: image136.png]opposite 13

0= o potenuee ~ 85




REF:
fall0721ia

15
ANS:


[image: image137.png]



[image: image138.png]opposite 14
~ adjacent ~ 48





REF:
061009ia

16
ANS:
4
REF:
061417ia

17
ANS:
2
REF:
081418ia

18
ANS:
4

If [image: image139.png]


, then [image: image140.png]AB



 is the hypotenuse, and the triangle is a 3-4-5 triangle.
REF:
061224ia

19
ANS:
3
REF:
011714geo

20
ANS:
1

A dilation preserves angle measure, so [image: image141.png]LCDE



.
REF:
062203geo

21
ANS:
4
REF:
061615geo

22
ANS:
2

[image: image142.png]LABC~ ABDC

cosa= 42 _ D
=a4ac " BC




REF:
012023geo

